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3. (25%) Two balls, each of mass m, are welded to a light, rod of negligible mass. The system
is initially at rest on a smooth, horizontal surface. Then, a force /' is suddenly applied to the
rod as showed. Find (a) the instantaneous acceleration of the mass center & and (b) the
instantaneous acceleration of the mass 4.

4. (25%) A 1-kg ball B is hanged from a extensional cord attached to C. A 200-g ball A4 strikes
B with a velocity vo. Assuming perfectly elastic impact, (a) determine the velocity of each
ball after impact and (b) calculate the lost energy in the impact.

5. (25%) 'The crank O4 rotates in the vertical plane with a constant angular
velocity @, =5 rad/s. For O4 horizontal, find the force under the light roller B of the 10-kg
slender bar 4B.




